azy
Invista V¥ Textil

PECAS E ACESSORIOS

Pecas e acessérios para maquinas

Jacquard

Staubli / Bonas / Grosse

vendas@invistatextil.com.br (O (19)99354 - 9099
lucas@invistatextil.com.br \. (19) 3457 -1419

6]

Rua do diamante, 82 - Sdo Fernando - Santa Barbara D’Oeste - SP - CEP - 13454 - 250
Cnpj: 21.958.986/0001-87 - Delutex Comercio de Acessérios Téxteis LTDA.


tel:+551934571419
https://api.whatsapp.com/send/?phone=%2B5519993549099&text&type=phone_number&app_absent=0

e7mm

| ,.._ | 12

—’-—-*J_
| — — ]
JACQ-0001 JACQ-0002 JACQ-0003
SOLENOID VALVE FOR JAICQ. PULLEY FOR JACQ. BONAS MJ2
BONAS MJ PULLEY FOR JACQ. BONAS 11*57
( p— I ‘_ - ‘ 1690 J [ LT‘
__—.E[m | - L-m,,,, * : : Ml‘;::
JACQ-0004 JACQ-0005 JACQ-0006

SMALL PULLEY FOR BONAS MJ2

PULLEY FOR JACQ. BONAS

PULLEY FOR JACQ. BONAS

Jm.m e e— = = :m-m . —
JACQ-0007 JACQ-0008 JACQ-0009
ROPE FOR JACQ. BONAS IBJ ROPE FOR JACQ. BONAS IBJ ROPE FOR JACQ. BONAS
MODEL L=317MM MODEL L=317MM L=315MM
= 29Bmm - t e 398mm § | |1 T 402mm {
JACQ-0010 JACQ-0011 JACQ-0012
ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS
L=298MM L=425MM L=429MM
1 S— H |1-' - 11 ez ' s 293mm ==
JACQ-0013 JACQ-0014 JACQ-0015
ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS
L=377MM L=310MM L=435MM
= 437mm i .1 205mm | | | I TR |
440mm 313mm 435mm
JACQ-0016 JACQ-0017 JACQ-0018
ROPE FOR JACQ. BONAS L= ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS L=
440MM L=313MM 435MM
175mm ‘ 2320?'?::"1 . ‘ 298mm ﬁf‘"“i
JACQ-0019 JACQ-0020 JACQ-0021
ROPE FOR JACQ. BONAS L= ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS
175MM L=230MM L=298MM

| Invista

P Téxtil



— -
Bl CU— S

— e
| pte siery | Semanst -
I! 208 l ‘ l t 182:“?‘3'""1 f |
JACQ-0022 JACQ-0023 JACQ-0024
ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS L=
L=223MM L=310MM 181MM
= ._.,)-—t-.ﬁ*_l :ﬁ 3 - L=1200mm
278mm A90mm L ; | C————
JACQ-0025 JACQ-0026 JACQ-0027
ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS
L=278MM L=199MM 1200X1.75MM YELLOW
| \\
L=1200mm L=312mm
JACQ-0028 JACQ-0029 JACQ-0030
ROPE FOR JACQ. BONAS ROPE FOR JACQ. BONAS JACQ. BONAS BOARD WITH 16
1200X1.75MM ORANGE L=312MM MAGNET BAR

JACQ-0031 JACQ-0032 JACQ-0033
JACQ. BONAS BOARD W/O 16 | JACQ. BONAS BOARD WITH 32 | JACQ. BONAS BOARD W/O 32
MAGNET BAR MAGNET BAR MAGNET BAR
R R W‘.
i j s 0 s 00900 o 0 0 0 0 @ %"
JACQ-0034 JACQ-0035 JACQ-0036

JACQ. BONAS BOARD SEC.
WITH 32 MAGNET BAR

JACQ. BONAS BOARD SEC W/O
32 MAGNET BAR

JACQ. BONAS BOARD IBJ WITH
48 MAGNET BAR

JACQ-0037 JACQ-0038 JACQ-0039
JACQ. BONAS 1BJ CARD MAGNET BAR FOR JACQ. HOOK FOR JACQ. BONAS
WITHOUT 48 MAGNETS BONAS IBJ L=390MM
JACQ-0040 JACQ-0041 JACQ-0042
SEPARATOR FOR JACQ. BONAS SEPAR&E%S&?VIT vbw MAGNET BAR FOR VDW

Invista

P’ Textil



i
il
L}

000
2
2's

I
= 3
1— mm 380 ‘

JACQ-0043

JACQ-0044

JACQ-0045

MEMBRANE BONAS

MEMBRANE BONAS

SUPPORT BOARD FOR MULLER

CTTTITEr Y YYYYTTITITIPrereen

JACQ-0046 JACQ-0047 JACQ-0048
CABLE PCB WITH 16 PIN FOR
DISPLAY FOR JACQ. BONAS200 | DISPLAY FOR JACQ. BONAS250 JACQ. BONAS
s o D o ) 485mm e Scomm ——
JACQ-0049 JACQ-0050 JACQ-0051
CABLE PCB WITH 10 PIN FOR
JACQ. BONAS PULLEY FOR JACQ. GROSSE PULLEY FOR JACQ. GROSSE
E T=6mm
JACQ-0052 JACQ-0053 JACQ-0054
ROPE BOTTOM GROSSE ROPE BOTTOM GROSSE
560MM M. 560MM P. PULLEY FOR JACQ. GROSSE
Lo - === ——
e T =
JACQ-0055 JACQ-0056 JACQ-0057
PULLEY FOR JACQ. GROSSE

PULLEY FOR JACQ. GROSSE

PULLEY FOR JACQ. GROSSE

JACQ-0058 JACQ-0059 JACQ-0060

PULLEY TWO SEGMENTS FOR
PULLEY FOR JACQ. GROSSE JACQ, GROSSE PART ONE
17V SSmme =

JACO-0061 JACQ-0062 JACQ-0063
FLAT HOOK FOR JACQ. GROSSE| MAGNET JACQ. GROSSE 12V

PART TWO NEW TYPE EJP-2 EJP-2

| Invista

P’ Textil



JACQ-0064 JACQ-0065 JACQ-0066
FLAT HOOK FOR JACQ. GROSSE| MAGNET FOR JACQ. GROSSE HOOK FOR JACQ. GROSSE
OLD TYPE EJP-1 24V EJP-1 L=490MM
— . -
ﬂ,) L=322mm ( e
JACQ-0067 JACQ-0068 JACQ-0069
ROPE JACQ. GROSSE ROPE JACQ. GROSSE _
322X1.75MM 322X1.75MM ROPE JACQ. GROSSE L=435MM
JACQ-0070 JACQ-0071 JACQ-0072
ROPE JACQ. GROSSE L=498MM | ROPE JACQ. GROSSE L=510MM [ OPE L= 485MM FOR
GRSJ-0002
. = —— = e ——
— R — — \\\‘ . . I e § 3 3 — ey
JACQ-0073 JACQ-0074 JACQ-0075

ROPE JACQ. GROSSE L=740MM

ROPE JACQ. GROSSE L=430MM

ROPE JACQ. GROSSE L=435MM

' — —_—— rd E= S
\-\-____;—_______-ﬁ-q \\___ = _7:_ i
JACQ-0076 JACQ-0077 JACQ-0078
ROPE JACQ. GROSSE L=505MM | ROPE JACQ. GROSSE L=437MM | ROPE JACQ. GROSSE L=543MM
1

JACQ-0079 JACQ-0080 JACQ-0081

ROPE JACQ. GROSSE L=490MM
WITH PLAST. CONNECTOR

ROPE JACQ. GROSSE 280MM

USB STAUBLI JC4/5 BONAS

EBEs < o - —
JACQ-0082 JACQ-0083 JACQ-0084
GREASE FOR STAUBLI JACQ. STAUBLI JACQ. MODULE M2 STD. PULLEY FOR M2 CX860
MODULE STD. NO BEARING NO BEARING

Invista

P Téxtil



) 340mm
BE=e—— E:__:fg ’._:I__ - - 2«
JACQ-0085 JACQ-0086 JACQ-0087
JACQ. MODULE M4.2 RAPID PULLEY M4.2 JACQ. MODULE M4.2 FOR
CX870/880 +4CM WITH CX870/880 WITH BEARING CX870/880+4CM-NO BEARING
JACQ-0088 JACQ-0089 JACQ-0090
RAPID PULLEY M4.2 FOR JACQ. MODULE M4.2 STD. STD PULLEY M4.2 CX860
CX870/880+4CM NO BEARING WITH BEARING DOUBLE BEARIN
i e - | ==
== | o =\ E==
JACQ-0091 JACQ-0092 JACQ-0093
JACQ. MODULE M4.2 STD.W/O STD. PULLEY M4.2 W/O JACQ. MOD. M4 CX 880 RAPID
BEARING BEARING DOUBLE BEAR.
= s | NS = - .
JACQ-0094 JACQ-0095 JACQ-0096
RAPID PULLEY M4.2 CX860 JACQ. MODULE M4.2 RAPID PULLEY M4.2 W/O
WITH BEARING RAP.CONNECT.W/O BEARING BEARING
: = — |
JACQ-0097 JACQ-0098 JACQ-0099
JACQ. MODULE M5 STD WITH STD. PULLEY WITH BEARING JACQ. MODULE M5.1 RAP.
BEARING M5.1 WITH BEARING
——— i —
e P - Y
JACQ-0100 JACQ-0101 JACQ-0102
RAPID PULLEY WITH BEARING | JACQ. MODULE M6 RAP.WITH RAPID PULLEY M6 WITH
M5.1 LX1600 BEARING BEARING
. | =_ e | = e ==
JACQ-0103 JACQ-0104 JACQ-0105
JACQ. MODULE VDW RAP. W/O PULLEY FOR VDW JACQ. STD. PULLEY M4.1 CX860 W/O
BEARING MODULE BEARING

4 Invista

P Téxtil



e
e mee | T e | el
O¢ e -
JACQ-0106 JACQ-0107 JACQ-0108
STD. PULLEY M4.1 CX860 WITH | ST. PULLEY M5 WITH BEARING
BEARING CX870/880 MAGNET JUNCTION M4/M5
JACQ-0109 JACQ-0110 JACQ-0111

MAGNET JUNCTION M2

HOOK SET FOR M4/M5

PLATE FOR M4

|

‘

JACQ-0112

JACQ-0113

JACQ-0114

SCREW FOR M2/M4/M5

SHAFT FOR M2/M4/M5

RAPID CONNECTOR

:‘:'-‘-—\_&Qg@
JACQ-0115 JACQ-0116 JACQ-0117
CABLE 16+1 JACQ. MODULE | CABLE 14+1 JACQ. MODULE
HOOK FOR M6 M2/M4 /M5 M2/M4 /M5
JACQ-0118 JACQ-0119 JACQ-0120
CABLE 33+1 JACQ. MODULE
M2/Ma/NS DRIVE BOARD FOR M2 FILTER STAUBLI JACQ.

i

JACO-0121 JACO-0122 JACO-0123
DISPLAY 9.4" FOR TOUCH PANELJC5 WITH
DISPLAY JC4 JC5/ZAX/G6300/GS900/LEO MEMBERANE
! - — -
L=335mm
JACQ-0124 SX-000019 SX-000037

TOUCH PANEL JC6

FLOPPY DRIVE FD-235HS FOR
GROSSE JACQUARD (SECOND
HAND)

LOWER BELT BONAS ZJ

Invista

P’ Textil



	Jacquard
	JACQUARD STAUBLI - BONAS - GROSSE

